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More algorithms
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%] A 3} (optimization): the problems where we try to find the best value for a parameter in some situation.
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MaximumVolume( ) {

maxV=0;
maxR=0;
pi=3.14159
for (r=1; r<{=12; r=r+1) {
V=500r + pi*r3;
If (V)>maxV) then {
maxV=V;
maxR=r;
}

return maxR;
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MaximumVolume2() {
prevV=0;
pi=3.14159
r=1;
V=500r + pi*r"3;
while (V> =prevV) {
r=r+1;
prevV=V;
V=500r + pi*r"3;
}
return r—1; /* maximum Vi prevV 7} "t */

}




2010 GlO[E[Z E#ste M4 20k

Z+& 4, efficient WH=71?
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olglgt S greedy algorithmo|=tal st (82 &1e]lE, &4 o] &1a]F), hill-climbing algorithmo]=tal ghct,

A greedy algorithm always makes the choice that looks best at the moment. That is, it makes a locally optimal choice in the hope
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that this choice will lead to a globally optimal solution.
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Local maxima®l A= global maximaZ} 2122 &3 A

7, olA] global maxima® 22 A AHA. 12l1 1 FMe)ES W0l ®A,
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